RERREZSIVIRERBRISOVTERER-A)

WEEES S L
8
100Bq kgZ#8Z 51 DO
BRERE
No B REH HA¥lniESE 3 L-134 + 9 L-137 EEE
Bqg. kg Bqg. kg Ba kg
1 L R6.12.18 = BREE9(<7.1) BmREHE9(<7.6) :fanhcac
2 E%AH R6.12.18 =S| BRHEET(<8.4) BRHE9(<8.5) BmEEd
3 LWhETh R6.12.18 = BRHET(<8.9) BRHE9(<8.0) BRHET
4 LWhEmh R6.12.18 =S BREET(<11) BREHET(L1.]) BRHET
5 LT R6.12.18 =S| BRHET(<9.1) BRHE9(<8.1) ;- darkcac
6 XEH R6.12.18 4R BRHET(<8.7) BRHE9(<8.2) BmHET
7 @A R6.12.18 =S| BRHET(<8.4) BRHET(<L7.3) BRHEET
8 @A R6.12.18 45 BRHET(<9.4) BmHEHE9(<8.4) - Janpcac

BRBEEICBTA2—BRBLAOEEE £ 9L 100Bg/ks(ESHL-134, 29 L-13TDEEE)




